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Instructions: Please show all of your work as partial credit will be given where appropriate,

and there may be no credit given for problems where there is no work shown. All answers
should be completely simplified, unless otherwise stated.
Each answer is worth 10 poinfs.

Part 1. Answer each of the questions 1 through 8.
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2. Find the limit, if it exists.
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3. Determine if each series converges absolutely, converges conditionally, or diverges.
Show all your work, state which tests you used, and explain your reasoning.
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4. For f{x)=

Dy
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(b) State its convergence set.
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5 For flx)=In(3+x)

(@} Find the Taylor polynomiat of order 4 centerad about g = 1.
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6. For Cartesian coordinates (2 V3,—2) . find three different ways to represent this point
in polar coordinates. <,
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7. find the slope of the tangent line to the graph of r=3sin(26) ot 9:% _
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8. For the functions +=5sin@® and r=24sind

{a) Graph the functions on the same coordinate axes and find the points of
intersection.

LW W&;gwa‘%\’\ {3%_3‘
s

70 S5uG T zEs
3! \ .

2| T QW“Q i

% ?i% %\rxgj \ffzr

L v .5’;;/ o
Points of intersection: { =, ‘b \}; ( = 5’“7;)

(b) Find the areainside r=35sinf and outside r=24sn8 |
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Part 2: Choose 5 of the following 7 integrals fo evaiuate. (Leave your answers in exact
form, no calculator necessary.) You must choose which problems to gradel

9A. Grade: Yes or No (circle one)
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9B. Grade: Yes or No {czrcie onej ,w
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9C. Grade: Yes or No (circle one)
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9D, Grade: Yes or No (circle one)
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9E. Grade: Yes or No (circle one)
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9F. Grade: Yes or No {circle one}
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9G. Grade: Yes or No (circle one)
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Part 3: Choose 4 out of the following 6 probiems to do. You must choose which problems
to gradel

10. Grade: Yes or No ({circle one)

Solve the differential equation @ _Yrre given that the solution goes through the
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11. Grade: Yes or No (circle one)
n!
For the sequence given by a,,:;:—

(a) List the first four ferms of the sequence.
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2. Grade: Yes or No {circle one}
Find the equation of the tangent line fo the graph of  y=(1+x")" atx=1.
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13. Grade: Yes or No ([circle one)
Use Euler's method with h = 0.2 to approximate the solutionto  y’=~2xy

over [1, 2] given y(1} = 2.
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14, Grade: Yes or No {circle onej
When you graduate college, you plan on putfing $10,000 into an account that pays
interest compounded confinuously. You want it to be worth $85,000 in 40 years. What

interest rate must you get to achieve your goal?
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15, Grade: Yes or No (circle cne)

Three people, Bob, Mary and Kathy, divide an apple as follows. First, they divide it
into fourths, each taking a quarter. Then, they divide the leftover quarter into fourths, each
taking a quarter and so on. How much apple does each person gete
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